

## ENHANCED CUSTOMER REPORTING

# Customer Reporting Current User Interface

#### Independence 💀

- 🔿 🏉 https://ecom.ibx.c	om/BlueInsight/IIDS/Reports.aspx?2+GxUPE9vXe%2f366	f7NVIGt264ML 🔎 👻 🚔 C 🥖 ecom.ibx.com 🛛 🗙	6 🛠 🤁
<u>File Edit View Favorites</u>	<u>T</u> ools <u>H</u> elp		🗙 📆 Convert 🔻 🔂 Select
and Trend Package Claims and Enrollment	Customer Id *	Customer Id - Customer Name (Highmark Client Id) 0000000000	^
Demographic Analysis     Disease & Condition     Profile     Enhanced Account	1		_
Utilization and Trens Package Impact of High Cost Claimants	Reporting Product Option *	< Modify Customer Id Selections	
Claimants with MDC Claimants with MDC Inpatient Clinical Grouping Analysis		CMM HMO-65 HMO/POS Hold <ctrl> to select multiples.</ctrl>	
Medical Claim Type <u>A Service Type</u> <u>Trends</u>		* indicates reportable product options. One Reporting Product Option must be selected in order to procee Proceed With These Product Options	d.
Medical Cost Sharin     Summary     Network Savings     Summary     Quarterly Cost		Selected Employer Group Id: ALL	
Quarterly Cost Trends Selected Medical Service Type Cost & Utilization Measures		Modify Employer Group Id Selections	
Top Professional Specialties	Current Period		
Top Professional Specialties with Payment	Incurred	V through V	
Top Utilized Facilitie			
Top Utilized Facilitie with Payment     Glossary®		✓ through ✓	
Account Utilization Supplemental Reports	Incurred		
<ul> <li>Pharmacy Report Pacl</li> <li>Underwriting Renewal</li> </ul>	s High Claim Threshold Amou	from the report for thresholds other than \$100,000.	
	Optional Parameters		
		Clear Back Submit	~
<			>

## Customer Reporting

#### Independence

Current Report Example



### Enhancements to the Reporting Experience Coming in Q1 2017

#### Independence Blue Cross has made significant investments to enhance the user experience and actionable insights in our integrated customer reporting package.

IndeX, the new self-service reporting platform, contains market-leading functionality to provide intuitive, fast results.

Independence Explorer

Enhance the content and experience of Independence's reporting suite with actionable insights and a modern design.



#### SCALABLE

- Customized to User Reporting Needs
- User-driven parameter selection

#### FLEXIBLE

- Web-based Access
- Role-based Security

#### ADAPTABLE

- Scheduled Report Runs
- User-defined reporting packages
- Re-run in 2 clicks

#### ACTION ORIENTED

• "So What" Metrics

#### Independence 💀

## IndeX Features

#### Independence



#### INTEGRATED HOME PAGE

- Last 5 submissions, and re-run quickly - NEW
- Ability to download recent completed submissions in two clicks - NEW
- See Notifications and Alerts

#### **REPORT CENTER**

- Intuitive, modern design applied to create reports
- Minimize time by applying templates to create reports in 2 clicks - NEW
- Schedule reports based on submissions - NEW

#### OUTPUT MANAGER

- See status of package requests
- Re-run completed packages quickly - NEW
- Search past submissions NEW

### Enhanced Reporting Content Key Themes

Actionable insights and information with a modern look and feel

## UTILIZATION

Breaks down the use of Inpatient, Outpatient, Professional, and RX services by total \$ and PMPM in multiple ways to illustrate utilization and cost.

## HIGH COST CLAIMANTS<sup>1</sup>

Focuses on members that meet a high cost claimant threshold that is defaulted to \$100K, but can be adjusted by the user.

## RISK PROFILES

Gives summary and detailed information on Chronic and Notable conditions, including medical spend, HCC, and CMC.

## POPULATION HEALTH

Summarizes Preventive screening services, gaps in care, member outreach and engagement.

\*Additional enhancements will include Value Based Care/BDTC incorporation

<sup>1</sup>Not available to all customers

## Enhanced Reporting Detail

#### Independence

The enhanced reporting suite can be run by benefits admins, consultants, and brokers. Examples of the reporting package include:

- Network Savings
- Network Utilization
- Office Visit Utilization
- Claims and Enrollment
- ER Utilization

etwork Savings S	Summary														
		1/2015 to 05/2015   Benchma	k: IBC Book of E	Business											
C															
l Savings"		Prior Current	% Chan	nge											
Charges Subject to Discou	ant \$75,	,485,577 \$71,177,196	-5.7												
Savings															
patient	\$18	8,056,887 \$17,955,573	-0	.60%											
utpatient	\$25	5,615,072 \$22,672,657	-11	1.50%											
ofessional		8,718,067 \$8,173,860		.20%											
otal		390,027 \$48,802,090		80%											
otal Savings Per Contra otal Savings Per Memb		\$15,178 \$15,103 \$6,868 \$6,879		50% 20%											
werage Total Savings P		\$36,479 \$41,952		00%											
ieruge rotai ouringor		100,110 T11,00L	10.	0071											
											_				
Ne	etwork Utiliz	zation													
		to 05/2016   Compared to: (	1/2015 to 05/2	015   Ber	nchmark: IBC Boo	ok of Business	2								
,400															
,200															
L,000															
\$800 \$1				<b>7</b>											
\$400		97%		9	8%		90	%							
5200								~							
s-															
		Inpatient		Out	patient		Profess	sional							
_		In = Out		- 1	n = Out		In =	Out							
		045													
		Office Visit U	tilization	1											
Inn	atient	Current Period: 01/2016	to 05/2016   0	Compare	d to: 01/2015 to 0	)5/2015   Ber	hohmark: IBC I	Book of Bu	isiness						
la la	vlembers														
A	Members Admissions		Member	s	Visits		Visits/1000		Net Page	ment	PMPM				
А А	Admissions Admissions / 1000					%		~		%		%			
A A D	Admissions Admissions / 1000 Days	Discus Due Direiti	Current	Prior	Current	% Change	Current	Change	Current	% Change	Current	Change			
А А С С	Admissions Admissions / 1000 Days Days / 1000	Primary Care Physicia	Current	Prior 100	Current 100	% Change 10%		Change 10%	Current \$10,000	% Change 10%	Current 100	Change 10%			
Α Α Ο Ο Ν	Admissions Admissions / 1000 Days / 1000 Net Payment	Preventive Visit	Current n 100 1000	Prior 100 1000	Current 100 1000	% Change 10% 10%	Current 1 1	Change 10% 10%	Current \$10,000 \$10,000	2 Change 10% 10%	Current 100 1000	Change 10% 10%			
Α Α Ο Ο Ν	Admissions Admissions / 1000 Days Days / 1000	Preventive Visit Other Visit	Current n 100 1000 100	Prior 100 1000 100	Current 100 1000 1000	% Change 10% 10% 10%	Current	Change 10% 10% 10%	Current \$10,000 \$10,000 \$10,000	2 Change 10% 10% 10%	Current 100 1000 100	Change 10% 10% 10%			
Α Α Ο Ο Ν Υ	Admissions Admissions / 1000 Days Days / 1000 Net Payment % of Total Providers	Preventive Visit	Current n 100 1000 100	Prior 100 1000	Current 100 1000	% Change 10% 10%	Current 1 1	Change 10% 10%	Current \$10,000 \$10,000	2 Change 10% 10%	Current 100 1000	Change 10% 10%			
Α Α Ο Ο Ουι	Admissions Admissions / 1000 Days / 1000 Net Payment	Preventive Visit Other Visit	Current n 100 1000 100	Prior 100 1000 100	Current 100 1000 1000	% Change 10% 10% 10%	Current 1 1 1 1 1	Change 10% 10% 10%	Current \$10,000 \$10,000 \$10,000	2 Change 10% 10% 10%	Current 100 1000 100	Change 10% 10% 10%			
א ער ער ער ער ער ער ער ער ער ער ער ער ער	Admissions Admissions / 1000 Days Days / 1000 Vet Payment % of Total Providers t <b>patient</b> Members Jinits	Preventive Visit Other Visit Obstetrics/Gynecolog	Current n 100 1000 100 y 100	Prior 100 1000 100 100	Current 100 1000 100 100	20 Change 10% 10% 10% 10%	Current 1 1 1	Change 10% 10% 10% 10%	Current \$10,000 \$10,000 \$10,000 \$10,000	2 Change 10% 10% 10% 10%	Current 100 1000 100 100	Change 10% 10% 10% 10%			
4 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	Admissions Admissions / 1000 Days Days / 1000 Vet Payment % of Total Providers tpatient Members Jnits Jnits / 1000	Preventive Visit Other Visit Obstetrics/Gynecolog All Other Specialists	Current 1000 1000 1000 100 100 100	Prior 100 1000 100 100 100	Current 100 1000 100 100 100	22 Change 10% 10% 10% 10% 10%	Current 1 1 1 1 1	Change 10% 10% 10% 10%	Current \$10,000 \$10,000 \$10,000 \$10,000 \$10,000	2 Change 10% 10% 10% 10% 10%	Current 100 1000 1000 100 100	Change 10% 10% 10% 10% 10%			
A A C Dus N U U U U U	Admissions Admissions / 1000 Days Days / 1000 Vet Payment X of Total Providers <b>tpatient</b> Members Julits Julits / 1000 Vet Payment	Preventive Visit Other Visit Obstetrics/Gynecolog All Other Specialists Total Office Visits	Current n 100 1000 100 y 100 100 1400	Prior 100 1000 100 100 100 1400	Current 100 1000 100 100 100	2 Change 10% 10% 10% 10% 10% 10%	Current 1 1 1 1 1	Change 10% 10% 10% 10%	Current \$10,000 \$10,000 \$10,000 \$10,000 \$10,000	2 Change 10% 10% 10% 10% 10%	Current 100 1000 1000 100 100	Change 10% 10% 10% 10% 10%			
A A C Dus N U U U U U	Admissions Admissions / 1000 Days Days / 1000 Vet Payment % of Total Providers tpatient Members Jnits Jnits / 1000	Preventive Visit Other Visit Obstetrics/Gynecolog All Other Specialists Total Office Visits	Current n 100 1000 100 y 100 100 1400	Prior 100 1000 100 100 100 1400	Current 100 1000 100 100 100 100 1400	2 Change 10% 10% 10% 10% 10% 10%	Current 1 1 1 1 1	Change 10% 10% 10% 10%	Current \$10,000 \$10,000 \$10,000 \$10,000 \$10,000	2 Change 10% 10% 10% 10% 10%	Current 100 1000 1000 100 100	Change 10% 10% 10% 10% 10%			
A A C Dus P U U U U U	Admissions Admissions / 1000 Days Days / 1000 Vet Payment X of Total Providers <b>tpatient</b> Members Julits Julits / 1000 Vet Payment	Preventive Visit Other Visit Obstetrics/Gynecolog All Other Specialists Total Office Visits	Current n 100 1000 100 y 100 100 1400	Prior 100 1000 100 100 100 1400	Current 100 1000 100 100 100 100 1400	2 Change 10% 10% 10% 10% 10% 10%	Current 1 1 1 1 1	Change 10% 10% 10% 10%	Current \$10,000 \$10,000 \$10,000 \$10,000 \$10,000	2 Change 10% 10% 10% 10% 10%	Current 100 1000 1000 100 100	Change 10% 10% 10% 10% 10%			
A A C N N V U U U U U U U U U U U	Admissions Admissions / 1000 Days Days / 1000 Vet Payment X of Total Providers <b>tpatient</b> Members Julits Julits / 1000 Vet Payment	Preventive Visit Other Visit Obstetrios/Gynecolog All Other Specialists Total Office Visits Member that 100%	Current n 100 1000 100 y 100 100 1400	Prior 100 1000 100 100 100 1400	Current 100 1000 100 100 100 100 1400	2 Change 10% 10% 10% 10% 10% 10%	Current 1 1 1 1 1	Change 10% 10% 10% 10%	Current \$10,000 \$10,000 \$10,000 \$10,000 \$10,000	2 Change 10% 10% 10% 10% 10%	Current 100 1000 1000 100 100	Change 10% 10% 10% 10% 10%			
A A C N N V U U U U U U U U U U U	Admissions Admissions / 1000 Days Days / 1000 Vet Payment X of Total Providers <b>tpatient</b> Members Julits Julits / 1000 Vet Payment	Preventive Visit Other Visit Obstetrios/Gynecolog All Other Specialists Total Office Visits Member that	Current n 100 1000 100 y 100 100 1400	Prior 100 1000 100 100 100 1400	Current 100 1000 100 100 100 100 1400	2 Change 10% 10% 10% 10% 10% 10%	Current 1 1 1 1 1	Change 10% 10% 10% 10%	Current \$10,000 \$10,000 \$10,000 \$10,000 \$10,000	2 Change 10% 10% 10% 10% 10%	Current 100 1000 1000 100 100	Change 10% 10% 10% 10% 10%			
A A C N N V U U U U U U U U U U U	Admissions Admissions / 1000 Days Days / 1000 Vet Payment X of Total Providers <b>tpatient</b> Members Julits Julits / 1000 Vet Payment	Preventive Visit Other Visit Obstetrios/Gynecolog All Other Specialists Total Office Visits Member that 100%	Current n 100 1000 100 y 100 100 1400	Prior 100 1000 100 100 100 1400	Current 100 1000 100 100 100 100 1400	2 Change 10% 10% 10% 10% 10% 10%	Current 1 1 1 1 1	Change 10% 10% 10% 10%	Current \$10,000 \$10,000 \$10,000 \$10,000 \$10,000	2 Change 10% 10% 10% 10% 10%	Current 100 1000 1000 100 100	Change 10% 10% 10% 10% 10%			
A A C Dut P U U U U U	Admissions Admissions / 1000 Days Days / 1000 Vet Payment X of Total Providers <b>tpatient</b> Members Julits Julits / 1000 Vet Payment	Preventive Visit Other Visit Obstetrios/Gynecolog All Other Specialists Total Office Visits Member that 100%	Current n 100 1000 100 y 100 100 1400	Prior 100 1000 100 100 100 1400	Current 100 1000 100 100 100 100 1400	2 Change 10% 10% 10% 10% 10% 10%	Current 1 1 1 1 1	Change 10% 10% 10% 10%	Current \$10,000 \$10,000 \$10,000 \$10,000 \$10,000	2 Change 10% 10% 10% 10% 10%	Current 100 1000 1000 100 100	Change 10% 10% 10% 10% 10%			
A A C Dut P U U U U U	Admissions Admissions / 1000 Days Days / 1000 Vet Payment X of Total Providers <b>tpatient</b> Members Julits Julits / 1000 Vet Payment	Preventive Visit Other Visit Obstetrios/Gyneoolog All Other Specialists Total Office Visits Member that 100% 80% 60% 60% 40%	Current n 100 1000 100 y 100 100 1400	Prior 100 1000 100 100 100 1400	Current 100 1000 100 100 100 100 1400	2 Change 10% 10% 10% 10% 10% 10%	Current 1 1 1 1 1	Change 10% 10% 10% 10%	Current \$10,000 \$10,000 \$10,000 \$10,000 \$10,000	2 Change 10% 10% 10% 10% 10%	Current 100 1000 1000 100 100	Change 10% 10% 10% 10% 10%			
A A C Dus N U U U U U	Admissions Admissions / 1000 Days Days / 1000 Vet Payment X of Total Providers <b>tpatient</b> Members Julits Julits / 1000 Vet Payment	Preventive Visit Other Visit Obstetrios/Gynecolog All Other Specialists Total Office Visits Member that 100% 80%	Current n 100 1000 100 y 100 100 1400	Prior 100 1000 100 100 100 1400	Current 100 1000 100 100 100 100 1400	2 Change 10% 10% 10% 10% 10% 10%	Current 1 1 1 1 1	Change 10% 10% 10% 10%	Current \$10,000 \$10,000 \$10,000 \$10,000 \$10,000	2 Change 10% 10% 10% 10% 10%	Current 100 1000 1000 100 100	Change 10% 10% 10% 10% 10%			
A A C Dut P U U U U U	Admissions Admissions / 1000 Days Days / 1000 Vet Payment X of Total Providers <b>tpatient</b> Members Julits Julits / 1000 Vet Payment	Preventive Visit Other Visit Obstetrios/Gynecolog All Other Specialists Total Office Visits Member that 100% 80% 40% 20% 0%	Current n 1000 1000 100 100 1400 1400 1400	Prior 1000 1000 1000 1000 1400 eventive onths	Current 100 1000 100 100 1400 Screening in	26 Change 1024 1024 1024 1024 1024 1024 1024 1024	Current 1 1 1 1 1	Change 10% 10% 10% 10%	Current \$10,000 \$10,000 \$10,000 \$10,000 \$10,000	2 Change 10% 10% 10% 10% 10%	Current 100 1000 1000 100 100	Change 10% 10% 10% 10% 10%			
A A C Dut P U U U U U	Admissions Admissions / 1000 Days Days / 1000 Vet Payment X of Total Providers <b>tpatient</b> Members Julits Julits / 1000 Vet Payment	Preventive Visit Other Visit Obstetrios/Gynecolog All Other Specialists Total Office Visits Member that 100% 80% 40% 20% 0%	Current n 1000 1000 100 100 1400 1400 1400	Prior 1000 1000 1000 1000 1400 eventive onths	Current 100 1000 100 100 100 100 1400	26 Change 1024 1024 1024 1024 1024 1024 1024 1024	Current 1 1 1 1 1	Change 10% 10% 10% 10%	Current \$10,000 \$10,000 \$10,000 \$10,000 \$10,000	2 Change 10% 10% 10% 10% 10%	Current 100 1000 1000 100 100	Change 10% 10% 10% 10% 10%			
A A C N N V U U U U U U U U U U U	Admissions Admissions / 1000 Days Days / 1000 Vet Payment % of Total Providers tpatient Members Juits Juits / 1000 Vet Payment	Preventive Visit Other Visit Obstetrios/Gynecolog All Other Specialists Total Office Visits Member that 100% 80% 40% 20% 0%	Current n 1000 1000 100 100 1400 1400 1400	Prior 100 1000 100 100 1400 eventive onths	Current 100 1000 100 100 1400 Screening in Screening in 25-39 40-64	26 Change 1024 1024 1024 1024 1024 1024 1024 1024	Current 1 1 1 1 1	Change 10% 10% 10% 10%	Current \$10,000 \$10,000 \$10,000 \$10,000 \$10,000	2 Change 10% 10% 10% 10% 10%	Current 100 1000 1000 100 100	Change 10% 10% 10% 10% 10%			
A A C Dut P U U U U U	Admissions Admissions / 1000 Days Days / 1000 Vet Payment % of Total Providers tpatient Members Juits Juits / 1000 Vet Payment	Preventive Visit Other Visit Obstetrios/Gynecolog All Other Specialists Total Office Visits Member that 100% 80% 40% 20% 0%	Current n 100 1000 y 100 1400 received Pn 12 m	Prior 100 1000 100 100 1400 eventive onths	Current 100 1000 100 100 1400 Screening in Screening in 25-39 40-64	26 Change 1024 1024 1024 1024 1024 1024 1024 1024	Current 1 1 1 1 1	Change 10% 10% 10% 10%	Current \$10,000 \$10,000 \$10,000 \$10,000 \$10,000	2 Change 10% 10% 10% 10% 10%	Current 100 1000 1000 100 100	Change 10% 10% 10% 10% 10%			
A A C Dus N U U U U U	Admissions Admissions / 1000 Days Days / 1000 Vet Payment % of Total Providers tpatient Members Juits Juits / 1000 Vet Payment	Preventive Visit Other Visit Obstetrios/Gynecolog All Other Specialists Total Office Visits Member that 100% 80% 40% 20% 0%	Current n 100 1000 y 100 1400 received Pn 12 m	Prior 100 1000 100 100 100 1400 1400 1400	Current 100 1000 100 100 1400 Screening in Screening in 26-39 40-64 Target × Of	2 Change 10% 10% 10% 10% 10% 10% 10% 10%	Current 1 1 1 1 5	Change 10% 10% 10% 10% 10% 10%	Current \$10,000 \$10,000 \$10,000 \$10,000 \$50,000	2 Change 10% 10% 10% 10% 10% 10% 10% 10%	Current 1000 1000 1000 1000 1400	Change 10% 10% 10% 10% 10% 10%	ment	Net Pag/	
A A C Dus P U U U U U	Admissions Admissions / 1000 Days Days / 1000 Vet Payment % of Total Providers tpatient Members Juits Juits / 1000 Vet Payment	Preventive Visit Other Visit Obstetrios/Gynecolog All Other Specialists Total Office Visits Member that 100% 80% 40% 20% 0%	Current n 100 1000 100 1400 1400 1400 1400 1400 5 6-18 Frior = Cu Member	Prior 100 1000 100 100 100 100 1400 eventive onths	Current 100 1000 100 100 1400 Screening in Screening in 26-39 40-64 Target	2 Change 10% 10% 10% 10% 10% 10% 10% 10%	Current 1 1 1 1 5 5	Change 10% 10% 10% 10% 10% 10% Visits Curre	Current \$10,000 \$10,000 \$10,000 \$50,000	2 Change 10% 10% 10% 10% 10% 10% 10%	Current 100 1000 100 100 1400	Change 10% 10% 10% 10% 10% 10%	iment X		
A A C Dut P U U U U U	Admissions Admissions / 1000 Days Days / 1000 Vet Payment % of Total Providers tpatient Members Juits Juits / 1000 Vet Payment	Preventive Visit Other Visit Obstetrios/Gynecolog All Other Specialists Total Office Visits Member that 100% 80% 60% 60% 60% 60% 60% 60% 60% 60% 60% 6	Current n 100 1000 100 1400 received Pri 12 m 5 6-18 Prior = Current	Prior 100 1000 100 100 100 100 1400 eventive onths 19-25 rrent 19-25 s	Current 100 1000 100 100 100 100 100 1400 Screening in Screening in Sc	* Change 10% 10% 10% 10% 10% 10% 10% 10% 10% 10%	Current 1 1 1 1 5 5	Change 10% 10% 10% 10% 10% 10% 10% Visits Curre nt	Current \$10,000 \$10,000 \$10,000 \$10,000 \$50,000 \$50,000	2 Change 10% 10% 10% 10% 10% 10% 10% 10% 10% 10%	Current 1000 1000 100 100 1400 1400	Change           10%	ment % Chang	Current	Chan
A A C N N V U U U U U U U U U U U	Admissions Admissions / 1000 Days Days / 1000 Vet Payment % of Total Providers tpatient Members Juits Juits / 1000 Vet Payment	Preventive Visit Other Visit Obstetrios/Gynecolog All Other Specialists Total Office Visits Member that 100% 80% 60% 60% 60% 60% 60% 60% 61 1-	Current n 100 1000 100 1400 1400 1400 1400 1400 1	Prior 100 1000 100 100 100 1400 1400 1400 14	Current 100 1000 100 100 100 1400 Screening in Screening	* Change 10% 10% 10% 10% 10% 10% 10% 10% 10%	Current 1 1 1 1 1 5 Total Office Net 100%	Change 10% 10% 10% 10% 10% 10% 10% 10%	Current \$10,000 \$10,000 \$10,000 \$10,000 \$50,000 \$50,000	2 Change 10% 10% 10% 10% 10% 10% 10%	Current 100 1000 100 100 1400 1400 1400	Change           10%  <	ment X Chang 10%	Current \$100,000	Chan 10
A A C N N V U U U U U U U U U U U	Admissions Admissions / 1000 Days Days / 1000 Vet Payment % of Total Providers tpatient Members Juits Juits / 1000 Vet Payment	Preventive Visit Other Visit Obstetrios/Gynecolog All Other Specialists Total Office Visits Member that 100% 80% 60% 60% 60% 60% 60% 60% 60% 60% 60% 6	Current n 100 1000 100 1400 received Pri 12 m 5 6-18 Prior = Current	Prior 100 1000 100 100 100 100 1400 eventive onths 19-25 rrent 19-25 s	Current 100 1000 100 100 100 100 100 1400 Screening in Screening in Sc	* Change 10% 10% 10% 10% 10% 10% 10% 10% 10% 10%	Current 1 1 1 1 5 5	Change 10% 10% 10% 10% 10% 10% 10% Visits Curre nt	Current \$10,000 \$10,000 \$10,000 \$10,000 \$50,000 \$50,000	2 Change 10% 10% 10% 10% 10% 10% 10% 10% 10% 10%	Current 1000 1000 100 100 1400 1400	Change           10%	ment % Chang	Current	Char
A A C N N V U U U U U U U U U U U	Admissions Admissions / 1000 Days Days / 1000 Vet Payment % of Total Providers tpatient Members Juits Juits / 1000 Vet Payment	Preventive Visit Other Visit Obstetrios/Gynecolog All Other Specialists Total Office Visits Member that 100% 80% 60% 60% 60% 60% 60% 60% 61 1-	Current n 100 1000 100 1400 1400 1400 1400 1400 1	Prior 100 1000 100 100 100 1400 1400 1400 14	Current 100 1000 100 100 100 1400 Screening in Screening	* Change 10% 10% 10% 10% 10% 10% 10% 10% 10%	Current 1 1 1 1 1 5 Total Office Net 100%	Change 10% 10% 10% 10% 10% 10% 10% 10%	Current \$10,000 \$10,000 \$10,000 \$10,000 \$50,000 \$50,000	2 Change 10% 10% 10% 10% 10% 10% 10% 10% 10% 10%	Current 100 1000 100 100 1400 1400 1400	Change           10%  <	ment X Chang 10%	Current \$100,000	<b>Cha</b> 1 1
A A C N N V U U U U U U U U U U U	Admissions Admissions / 1000 Days Days / 1000 Vet Payment % of Total Providers tpatient Members Juits Juits / 1000 Vet Payment	Preventive Visit Other Visit Obstetrios/Gynecolog All Other Specialists Total Office Visits Member that 100% 80% 60% 60% 60% 60% 60% 60% 60% 60% 60% 6	Current n 100 1000 100 1400 received Prn 12 m 5 6-18 Prior ■ Cu Member Current 100 1000	Prior 100 1000 100 100 100 1400 1400 1400 14	Current 100 1000 100 100 100 1400 Screening in Screening	* Change 10% 10% 10% 10% 10% 10% 10% 10% 10% 10%	Current 1 1 1 1 1 5 Total Office Net 100% 100%	Change 10% 10% 10% 10% 10% 10% 10% Visits Urre nt 10 100	Current \$10,000 \$10,000 \$10,000 \$50,000 \$50,000 \$50,000	2 Change 10% 10% 10% 10% 10% 10% 10% 10% 10% 10%	Current 100 1000 100 100 1400 1400 1400 200 200 200 200 200 200 200 200 200	Change 10% 10% 10% 10% 10% 10% 10% 10%	ment X Chang 10%	Current \$100,000 \$100,000	Char 10

